IV 1/Br gg ap sopeynsal Ophqo opus) "y 1 3 ep eples g |euoioessdo 0joU0D Op BJUOD lep ejed (QYWLY

IV 1/ 2t

Iv 1M zL

asijguy JojeA

29 o'U Op 8juay
we ese) - oxieg ap opeiqog
op epede)n - sagipap

VS

‘OBS|\ Op seuS| EuEIIqOW|

- 0JIBINQO 0P BUIND - S9QIPBIA
wabesnsowy ap ojuog

oy

olwn|y

osaweley

€102-80-20

€102-80-20

olesug ejeqg

) Blje Wa eiojsab apeplua e opeyol|os 10} ‘oededyuan ap Sosi|euE Sep Wwale eley

£102-80-10

€102-80-10

oedeoyliap ap sasijeuy

©107) 0l |se
:oejeiniqnd ep ejeq

VYV

(eanjeuisse s awou) :ajuapisasd o

SEPIP3IA ‘sepedyiuap) weloj oep - 4 Sesney,

ojuaWLIdWNIUL O WEIBWIIUOD OBU @o_..wumoa sasijeue se anb.iod Sep|paw sepewo} weio} OBN - {7N :SBAI}I3410)
}(seA1323.1402 sepipaw 3 sesned) gA sop ojuawiidwinoug ap sagdenyys sep oesen3liane € BAlje|al Jejuawajdwod oeSewloyu)

("v'S 0anoq 03]y @ sajuop-so-ses) 9p sendy) ejje wa es03sa3 apepiua ejad Opesijeue (OAI}EAI2SUOD) OJ33WEIRY :Z YLON

OQYOQS :SePEe|0J3U0D 03USWIIBISEqE 3P SEUOZ T YLON

%00T | | IT IT i —._\w#_ocmaoEEo_uoEo._a_n
%00T T T 0'L> 0'L> = (1/3r)oueawoiopipowoig
%001 T 1 T 6C 62 — [G/3")o1wigsowioag
%001 I L b 0'L> 0'L> e (1/8v1)ojwios040))

0 or o 00 :(1/31) |e303 - souesawoeyl]
%007 I T o 010’'0> | 010'0> G (1/8)ouaud(p3-g‘z‘T)ouapu
%00T 1 T — 5000> | s000> — (1/3") ousjuad(iyB)ozuag
%001 T T 0s00'0> | 0500°0> - (1/21) ousjuesony(y)ozusg
%001 1 T 0500°0> | 0S00°0> — (1/31) ousyueionyy(q)ozuag

0 SZ0'0> 5Z0'0> 0L'0 :(1/21) soo1pijjod soaewory $0}13U0(JE204PIH
%00T T T %001 0 9> 9> 0z (IN 1/31) janbyN
%001 T I o 8T'T 8T'T - (8 1/3w) oisausepy
%001 T T %00T 0 0 0 0 (1w 00T /N) so2020123u3
%001 i T — €€z €€z — (€02e3 1/3w) e103 ezaing|
%00T T | %00T 0 20-30€°C | 20-30£°C 0'C (ny ._\IuE. 2iqo)
%00T T | %00T 0 L> L> GC (ad d@ oquiny)
%001 T I o pes ‘s Q'S aae (e2 1/8w) oy
%001 T T %00T 0 0'L> 0'L> 0L0'0 (1/31) ouaud(e)ozuag
%001 T T %00T 0 S0°0> 500> S'0 (*ON 1/3w) soyuuN
%007 T T %001 0 09> 09> 002 (24 1/2) 01133
%00T € € %00T 0 0'T> 0> ¥ (nNLN) ogseain)
%001 £ £ %00T 0 1> 1> £ (oe31n|ip ap J012e4) D552 € Joqes
%00T € € %00T 0 1> 1> € (og31n)ip ap 1032e4) 3552 € 0413y
%00T € € %001 0 6T v'T g (*0 1/8w) apepijigepixo

0 0s (*ON 1/3w) sozesyN
%001 € 3 %001 0 88 0'z> 0 (U 1/31) saueBuepy
%00T € € %00T 0 €L 69 659 G'92 (Hd mmumu._ha Hd
%001 3 € %001 0 0'e> 0'e> 0z (021d 1/8w) 40D
%00T € € %001 0 0 0 0 (Iwo0T/N) suabuiifiad wnipriso)y
%001 € € %00T 0 vIT L8 0052 (2502 e wa/srl) apepianpuo)
%00T € € 1z 0 |ewloue ogdeis)le weg (1w/N) 35 L€ e seiug|od ap osawny
%00T € € - LY 0 [ewioue ogdels)e weg (1w/N) 25 Zz e sejugjoa ap osawny
%00T € € %00T 0 S0°0> S0‘0> 0S'0 ("HN 1/3w) oluowy
%001 £ 3 %L9 T Z0+31°E 61 002 ____(va/3n) ,ouwniy
%00T 9 9 e 870 zz’0 = (1/3w) |enpisas ayuelsjuisag
%007 9 9 %00T 0 0 0 0 (lw 00T/N) sawa041103 seuldeg
%001 3 9 %007 0 0 0 0 (1w 00T/N) 1102 DIY21I2YIs3

mmﬂﬂuﬂz il B0 400 gt AR & ma..o_.o.._:u JAIN | 2wl | cooz/sce ._nm“.“ ohﬂm“_* (sapepiun) onaweaeq
% (vDOd) sasijeuy 5'N  [CRuRWdwn %] sasipuy 5'N SOpIqO Sai0jen (dA) oa133weaeq Jojep
04qWalas O§ "(4vsy3) suazadwod apeplioine ejad
e oy|nr 1o opeaoude (yDId) endy ep apepj|enD ep 0[0.3uo) ap eweidoid 0 Opundas ‘JopjuNSuod Op eJj9u10)} BuU sedlpoliad sasijeue ap saAesle
£T0Z IYLSINIYL 5€ ‘ed)|qnd apai ep ensg ep apepijenb ep ogSedylian e as-napadoad ‘03sode ap £z ap ‘£002/90€ 5°U 137-032429Q O WOI SPEPIWIOJUOD W3
ogindeusad ap eyel ejues ap oidpiuny
. OYINSVN3d 30 VLUVIN VLNYS 30 OH13DNOD 04 ,OLNIWIIILSYEY 3d SYNOZ SYN ~ = il

¢es’ulvliial ONVIAINH OIANSNOJ YiVYd YNDY YA 3avalivnd vad OT04Y1LNOD ...-...l......m.r




